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AT Y 45° T BT TR 2| ST FSe F 0.35 A IR VA Wt &, FA
T qf=m A 7 9 3R da =@ R
(a) 9 A W &= & T=a1g §7 ¥ e saga w1 99 91 Fw)
O®) TR & g1 F W 3o @ R @ ok R ST et W W
ararad R # (SR @A W) 90° F R R g e s G gEay
T forg fen 9 30M? v0 W@F W TEFE Raum 1= it
B oSl § AR & BRI A WA n=30 N
FoSA ¥ URT /=0.35A G
TG ool o Bl =12cm =0.12m 45
(@) 1 N-S AT IrAR @1 R} oSl T « 7
AR C, T C, &% W& 45° F BT W 2 3
Rg Wew 4 @ &t 3R B Fvsat & TR e, B
TR & B R wRew ¥ @ A R J 450 s
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F P W R AW & fm § g9 ™ R aRad greed § eRU IaH
qIHT &

g<to .20 1077 x 2 x 314 x 035 x 30
012

=183x10%x30=549x105T

al

g &3 = &R g 1

H=Bsin45°=549x10"% x —
. 2

=39x10°5T

(b) fs FvSM F R FGoEIT B TN FUSEN 90° B I W TN D T F
fawdia faen 4 agad R T A A R Zorfia M spfq gd @ oftaw

AR

S 21. 0% T4 Bga Q T=aa 85 & 79T 3 1 A 4 - A 60° H
FI0 TR € R ST QT A TR 12 % 102 T |1 3R Ry @ age §

TR & ¥ 15° T IV TG, < AT &F T IR0 )41 I?

B A W R &3 B, au fada g=dg 8= B, R, B, 7 B, § 3101 60° Bl

a2, B =12x1072T
faHa B, | 45° & AU W A A B
Jalg 60°-15° = 45°, B A
e R gedg &3 B, & TR g
T, =M x B sin15° ._(i)
et M gt st R
ey W g &3 B, F TR I
1, =M x B, sin 45°
4f foga wge A R
T, =1,
M x B, sin15° = M x B, sin 45°
T () =0 (i)
12 x 1072 x sin15° _
sin 45° =5
Bz=1.2><10'2 x 02588 _ 444 10-3T
07071 )

I TG g AA 4.4x 103 T Bl |

..(i)
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WY 22.TF TAST 18 keV AR TR & 00 49 W S ¥ ¥ Afvw R
TR 2, 0.04 G 1 T S TIIT &, I A0 4 3 IR e & e
#, v T &1 Seer IR 30 A F R g e I R 4 e 8 SR
1 i freaifi B2 (m, = 911x 1073 kg, e =160 x 107 €)1

Bl afk Il oo gRAg &F $ TRaq HIY I § 99 98 JOd 9 W R
FRA1 R TRAY T A= B WL I B
FATE[ W HeAl E = 18keV
=18x10° x16x 107" (-1eV=16x10""0)
=18x16x107'%J

v

AT Zoaei & 97 v Bl
TAH A B=04G=04x107*T 4 8
g =30cm=03m
TATEA B FEIA m, =91x 107 kg

P @ ool E=%mv2

18x16x 107" = % x 91 x 10°31y2

Y

Yy Yy

3rrar v = 0795 x 108 m/s

A1 gAee € r Brew ¥ v % w7k &R D

FARA R ARG FRAT 77 AfTF= T ISH IR &
2

ev3=’""7 [F=q (vxB), vax B & €1 3v1 90° §]

A

A" Tr~~o.

Xy
ro
]

]

1 ]

2

(o]

OA=r=0C,DC =d =30cm

J— pom _ 91x107% x 0795 x 10°
Be 04x10 x16x107"

~

=113m
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A fAgqor AD = x

ADCO, R sin6= 8_84;: %
6= 1521°
Al cose=@=-o—D-
oc r
3UqQq OD=rcos®o
g & Afm fag w Reaam
AD=x=A0-0OD=r-rcos0=r(1-cos®)
3rqar x= 113 (1- cos 1.521°) = 00039 m
=3.9mm
IRAqr X=4mm

I 99 @ FW W R[dge FIwE 4 mm @l

WS 23, ATTEHY T F T T H 2,0 x 102 A fFga € R F vdw

1 f3gd 3 1.5 x 1023 J/T &1 §0 T Y 0.64 T ¥ T THEAH T=Hg 8
@1 T 3R 4.2 K 919 76 3vet R TN 39 15% e dgad o T8 af

T HN 0.98 T F TEHT QA F 2.8 K A9 T @M 8 A $0aH1 Fo Ty g
fapeT €2 (9% A W9 § R g0 fram ang A 1)

B wAa R fayd @t W n=2x10%
TS faya &1 faya smgel = 15 x 1002 YT
FEIY Gl = 15%
TN g &5 8, =064 T
RS a9 7, =4.2K
Sfxm e &5 8, =098 T
Jfw A T, =2.8K
TEHG FJ B AT = 15%
T M T 2 e
= faydl A W x WS faya &1 sk

=2x10% x15x 1072 =3x10=230

Q@ R WA FEHG I M, = 15% of M
M, =13 x30=454T
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C_1I
Tl % Frmrgar Am=T=1
JocMTMH o< B
T c_M
T B
SiEl, M TR el § 91 B T aF B
o Mo BC
T
M _B T
M, T, B
e M2=%xM,=O'QBX4'2x.4_5
BT, 064 x28

M, =10335J/T
Ira: TR & fayga smgef 2.8 K 919 WR 10.335 /T B

W 247w e fonr =t shwa frewr 15 aft @ sk s s00 s
¥ ol T=HT AT T 3500 R 92 T EI 1.2 A | =T 97
F FRU 39 s § fha T &= () Tm?

TA Aavs R A hwa B r=159M=015M
TR & W1 9 G&= N = 3500

e gHT s F o smiflys geodaa
u, =800
RT 1=12A
eRIge & TRY THH &5
B =gl (?n=ﬁl‘\’$ﬁ7\ﬁ ﬁm)
B=p,u, 2%./ (- ORiss N F=E =2m)
= 4% 314x 1077 x 800 x —2200x12
2 x 314 x 015

=448T
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T 25. 5t T & AN T G G s T TG iy &9 0F 9
T T S FAW: 1, 3Ry, B Frew T F R ) (3R w@mers

T Y A~ WRYSAGH TL) 76 AH FHA: 777 7R R o €

s =—(e/m)s, Wp; = —(e/2m) |

-1 S faramd FaEml & 3R T A 33§ AW H ST gt

22 30 A SR W e @ e S S F)
T Ry T Fe" § ITER Fqd p, o AG@ & JgEY B

e
=-|—|1
Ky [2m)

W‘aaﬁqﬁp,ﬂxm:[%] w?

e
"WRH “I_(_?)an
. 2w

PN 9 1=mvr=m(-T—)r

A (i) B (Gi) F W[ R
wo_-enfl o€
I~ T-m@nr)r 1 2m

e

P1=‘2_ml

78 &H Y@ & fFp, 9/ F tr-gR b R 9 Reda i A R
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